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And perhaps there it is — 1779132 MBNW ;795 NIRT BN SINW RIADITY
different, for he has a partnership therein

OVERVIEW

There is a dispute between 011 "7 and "2°7 concerning the P109 of MK MY
PRI N7Y 2R 2. According to p"2 it teaches us that \nI1n2 2R YW MW (by
o°w7p) and according to N1 ' it teaches us that IR 1052 PRI HRIWS 9.
However (from the fact that 77X 7092 PRYY PR 9D) it also teaches us that
there is 2w7p2 Mow. The X M) however challenges this proof, and asks
perhaps there is Mm*%w only by the 1105 1277 (and the like) where the M5 is a
partner in the 7277. Our NMo0IN elaborates on the question and also explains
why this question was not asked concerning the proof from p"2°1.

— 9931 MOMY NITT XN NYIYW NIMWY Yax ‘w1
The explanation of the question "2 on77 "IRW ¥1?°7 is that granted we can
derive that one can make a m>w if the 5w is a partner,” however how can

we derive that a 12 can be appointed even when he has no partnership
interest.’

mMooIn anticipates the following question:
—*r5hY 7999 S8 KD 11799993 MOMVY 19 NXIPYT XIS 913 991 PNRT 991D PPN

And one cannot say that indeed this is so; wherever he is not a partner

he cannot be designated as a m>w (by o°w7p). Moo responds that we cannot

assume this -
— HDON HY VINYI RY 129 1D 9INRY 297 (3,00 97 onE) YN P99 )95 NI4T

For we have learnt in a mw» in 7wR7 P99; ‘where his master told the

servant go and vrw a o2 1277 on my behalf -
— 95K N9V 1) NP AYV IN 272 929 99 9N NN NIYY

And the servant forgot what his master told him to sacrifice, whether a
goat or a lamb; the servant should take a goat and a lamb and proclaim -

"It is possible that if not for the w11’ of MdoIN we could have understood the question ¥n%>11 differently:
The X1 is asking that perhaps by the 1o there was no mm>?w at all; he was able to do the 7w nw since he is
a Amw. Therefore MooIn explains that there was no such X" that they can be ¥ without mm>>w, but rather
the question was that mmow (by 2°w7p) is effective only if 7732 momw 1% w». See >"10.

% In the case of 101 "1 where all YX7w» are X 7052 OXXY, the WMWY who is the M5 for all the other Jews is
a partner in this 709 727p, for he too is partaking of it.

3 In the case of a oD 127p, for instance, how do we know that a stranger who is not included in this 1109, can
be vmw the 1277 on behalf of its participants.

* The anticipated question is that perhaps by 2°w7p one can be a 9w only if 17132 mamw 19 v
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—I9YW N9V YTV 1) 229 9D 9N NYV BN DY 11 DY NHL 29 D 9N *1) BN
“if my master told me to sacrifice a ¥73, then the %% will be for my 327p
noo and the 373 will be for my master’s 705 127p, and if my master said a
19, then the »73 is mine and the 779 is his’”’. This concludes the mwn.

mooIn continues with his proof
—%1)2 MOMVY 1D PRY YRWUN 19V 51X DY NIV 9INPTN)

And since the 71wn states ‘the 179 is mine and the 373 is his’ this indicates

that the servant has no partnership interest in the 73, and -
—349 913y 1) VMY 91 1DON

Nevertheless the servant is v the >7x for his master -
— N2 MOMY Y 59T NN IDIAN NIYY NNWY *81NT NN

It is evident from this mwn that a %2 can be designated even if he has
no 792 Nanw.

ndOIN asks:
— 9193 *9599 HNT XY INAN VAN ON)

And if you will say; why did not the X723 also deflect previously the proof

from p"2»1 that there is mm>w by 0°w7p. The X713 could have countered that —
— *NOT NINTI 92 MOMY %Y FOINT 99999 NP 12 YWIN? 2297 NYNNT

That ruling of "2 is discussing a case where the 5w has a 7932 nsnw,
as the X723 challenged the proof here from jn ™.

N1B0IN answers:
— AN NDDA PRI INIYS Y97 NP INDM PI9NT 1N 53991 995 Y

And one can say; that according to 011 ' who derives from this 7102 (of
PXIW° N7Y Pap 95 1R wnwn) that all of "o can fulfill their obligation

with one 1102 1277 for everyone, it is therefore apparent that Jn3v " -
— X299 NY DINDD NYIIN 120PT

maintains that the eating of the e is not a requirement to fulfill the mx» of
noo 1272. One is ¥X1 his obligation of bringing the nod even if he does nor eat it -

3 2,81.The X3 derived there MW by 2°wp from p"2%1 who stated, ‘how can the 109 state 9 INIR WwMWN
5% n7v 7ap, when only one person is vmw. We derive from here that 103 78 2w ym7w’; that since he is
umw on their behalf it is as if 2X7w 7Y 2P 95 is performing the fwnw.

® The same question that we ask on the 7% of 1n11° ", we can also ask on the 7% of p"2™; namely that in
the case of the noo there can be a °%w since he has ™32 manw, but how do we know that there can be
MW even if there is no 732 Monw.

71t is impossible that there should be a n°t> of the noo 1277 for each Jew to eat if all the Jews participated
with only one 105 127p. The fact that the 770 teaches that all Jews can join in one 7277 indicates that there
is no requirement 72¥°72 to eat from the 1o2.
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— 7PN MAMY 1Y FONT 299 19195 VMY TAN MINPT ONN )9 ON
Therefore this which 1011 "1 states that one is wmw for all is certainly in a

case where the vmw has a 732 nsmw
— 991 K9P 22 N1

For this is the case which the 02 is discussing that there is only one 727p -
— AN N9 PNY PR INIYS YT INRT DN 12 YWD’ 239 Yax

However according to ¥ '3 who maintains that ®X=w" %> are not X3

with one oD -
— 1519 YN TN Y97 P98V 29Y

Because it is necessary that each individual eat a ns1> -
— %1297 DNV VAIY TART 9115 1189 INIYS 1Y 5P 95 IMN IVNYI IND 19 ON

Therefore this 7109 of R n7¥ ®7P > 1IN WAL means to say that one

person is ¥WMY many 2°10D -
— 11D 9NN D35 XD N THnT

Since in one 1705 there cannot be a N> for each person of >"12 -
$0INY S8NT MOMY NIMJT NINT 929V P91 19 ON)

So therefore we can properly derive that even where there is no monw
he can vnw.

SUMMARY

We find mm°%w even when 732 mamw 7% n°? in the case of the 72y with the
73 and the 790, The question of "1 X1»%°71 does not apply to "2 since he
maintains 0°109 N?°OX is 20¥», and therefore many 2°1m09 are bought and if
one 1s MY all of them there is no 732 MdMW in the others.

THINKING IT OVER

1. mooIn proves that there is MMoWw even when 732 ndMY 7°% n°? from the
case of the 121 7av. Seemingly however we can argue’ that the reason the
mmow there is effective is since 127 70 72y 7, therefore no NBMWY is
required; however by a regular m°%w it will be necessary for him to be a Anw.

2. Moo maintains that according to p"2M one person was VMY many
pmos. Tt is not clear from where N0 derives this. Indeed there were
many 2°109 but perhaps the vmw was from his 771an where manw ;79 2!

8 When he is 7277 0’100 bMWY he can only be included for one 127p; in the others which he is vmw he has no
7132 mvnw and nevertheless he can be vmw them as well. See (however), ‘Thinking it over’ # 2.

? See w"w and n'"m.

10 See footnote # 8.

' See n"mn "y ("% MvoINT) R"wAnn and 'on 7031 7721 NIR A0 7010,
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